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Atomic Energy Central School No.4, Rawatbhata
Periodic Test-1 (2018-19)
Time — 1 & Half Hrs Class-VIII (Mathematics) M.M.-40

Note: All the questions are compulsory. Questions 1 to 3 are of 1 mark each,
Questions 4 to 6 are of 2 marks each, questions 7 to 11 are of 3 marks each and
questions 12 to 15 are of 4 marks each.

1. Multiply 1—63 by the reciprocal of I—Z :

3
2. Solve for Xx: SHX=

3. Find the no’s of sides of a regular polygon whose each of the exterior angle
has a measure 45°.

4. Represent %5 on the number line.

5. Find four rational numbers between _?7 to get % ?

6. In a parallelogram RING if m£R = 70¢, find all the other angles of the
parallelogram.

7. Construct a Quadrilateral PLAN where PL =4 cm, LA = 6.5cm, £ P = 90¢,
£A =110°, £ N=85°

8. The perimeter of a rectangle is 13 cm and its width is 2 % cm. Find its length.
9. Show that diagonals of a square are perpendicular bisectors of each other.

(m-1) _, _ (m-2)

10. Solve: m - > ; R U
11. RUNS is a parallelogram, find x and y. If RO =16 cm,
ON = (X +y) cm, SO =20 cm and OU= (y+7) cm.
12.Find 2 x = —=-2x2 S N
5 7 14 7 5




13. The denominator of a rational number is greater than its numerator by 8. If
the numerator is increased by 17 and the denominator is decreased by 1, the

number obtained is % Find the rational number.

14. Construct a quadrilaterals TRUE, where TR= 3.5 cm, RU=3 cm, UE=4 cm,
£R=75° and £U=120°.

15. Construct a rhombus ABCD where AC=6 cm and BD=7 cm. Write also the
steps of constructions.

Atomic Energy Central School No.4, Rawatbhata
Periodic Test-1 (2018-19)
Time — 1 & Half Hrs Class-VIII (English) M.M.-40

READING

1. Read the following poem carefully and answer the questions that follow- (5)

Patient and steady will all he must bear,
Ready to meet every challenge with care,
Easy in manner, yet solid as steel,

Strong in his faith, refreshingly real,

Isn’t afraid to propose what is bold,

Doesn’t conform to the usual mould,

Eyes that have foresight, for hindsight won’t do,
Never backs down when he sees what is true,
Tells it all straight, and means it all too.
Going forward and knowing he’s right,

Even when doubted for why he would fight,
Over and over he makes his case clear
Reaching to touch the ones who won’t hear.
Growing in strength, he won’t be unnerved,
Ever assuring he’ll stand by his word.
Wanting the world to join his firm stand,
Bracing for war, but praying for peace,

Using his power so evil will cease,

So much a leader and worthy of trust,

Here stands a man who will do what he must.




a) This poem is about the qualities a ...................cceevien.nn. should
POSSESS.
b) The leader would fight bravely but at the same time pray

e) According to you, what qualities a leader should have?

WRITING

. You are Shyam Sita of class VIII. You have lost your library book which was
issued to you in the school playground. Draft a notice for the school notice
board informing the students about it. 10M

GRAMMAR

. Fill in the blanks using the correct form of the verbs in brackets. 2M
My sister is very naughty. When she........ (come) back from school
yesterday, she had....... (tear) her dress. We......... (ask) her how it

had....... (happen). She said she........... (quarrel) with a boy.

. Fill in the blanks in the sentences below (the verbs given in the brackets will
give you a clue). 2M
A. The earth trembled, but not many people felt the.......... (tremble).
B. When the zoo was flooded, there was a lot of ............. and many
animals escaped into the countryside. (confuse)
C. We heard with......... that the lion had been recaptured. (relieve)
D. There was much........... in the village when the snake charmer came
visiting. (excite)
E.
. Make the meaningful sentences using the following words 2M
Mobile phones, breakfast
. Make two sentences using Simple Past and Past Perfect Tense together. 2M
. ldentify the tense of the following sentences 2M
A. 1l just love dancing.
B. Yesterday | saw a movie.




10.
11.

12,

LITERATURE

8. Who had written the letter and to whom? 2M
9. Why was the letter written- what was the wonderful thing that had happened?
2M
How different are the ant and the cricket from each other? 2M
Mention two things that are not clear from the height. (Poem- Geography
Lesson) 2M
What, according to the Djinn, was the use of the “hump’? 2M
Why had Velu run away from home? 2M

13.
14.
with- her parents or her geography teacher and why? 3M

If Tilly’s award was to be shared, who do you think she should share it




